Havis, Inc.

75 Jacksonville Road
! Warminster, PA 18974

S : 800-524-9900 F 215-957-0729
Productivity in motion i havis s

INSTALLATION INSTRUCTIONS
UNDER-SEAT REAR STORAGE C-SBX-106
For 2020-2024 RAM 2500 & 3500 CREW CAB
(5th gen- Body Code DJ)

TOOLS REQUIRED:

Standard and Metric Socket Sets

PARTS and MOUNTING HARDWARE:

QTy DESCRIPTION PARTH#
1 Driver Side Box 27387
1 Passenger Side Box 27546
4 Rubber Bumper 13691
4 Grommet 15787
4 Dome Plug 15830
16 8-32 Keps nut 16016
2 7/16 Washer 16128
2 7/16” Y% -14 x 3/4 Screw 16359
1 Hex M12 x 1.75 x 35 16524
2 Southco Latch 16867
2 Hinge 19138

Always!

» Read all instructions before installing any Havis, Inc. products.
» Check for obstructions (Wires, brake lines, fuel tank, etc.) before drilling any holes!
» Use hardware provided with install kit

C-SBX-106_INST_5-25



Havis, Inc.

75 Jacksonville Road
Warminster, PA 18974

I 800-524-9900 F 215-957-0729

Productivity in motion www.havis.com

C-SBX-106
Assembly

16867 27387

15787

C-SBX-106_INST_5-25



HAVIS

Productivity in motion

Place SBX box(es) into appropriate location, line

up 2 mounting points with front seat bolt and use

Hex M12 x 1.75 x 35 with washer for the rear,

install two 7/16 % lag bolts on the front edge
towards the front of the vehicle

Havis, Inc.

75 Jacksonville Road

Warminster, PA 18974

T 800-524-9900 F 215-957-0729
www.havis.com

close. Installation complete

C-SBX-106_INST_5-25



